
Science 20F   Names: ________________________________ 

Balancing Equations - Visual 

Instructions 

• Write down all chemicals that are reactants 

• Write down all chemicals that are products 

• Write down all chemicals that are 

o Gases 

o Liquids 

o Solids 

o Aqueous  

• Place elements into the chart 

• For each skeleton equation, choose a colour for each element 

• Use Fruity Hoops to represent atoms 

• Place Fruity Hoops within the chart given 

• Adjust coefficients 

• Adjust your fruity hoops 

• Repeat until the same number of each colour is on each side of the equation 

  

You must use pencil 



__H2 (g)  +  __N2 (g)  →  __NH3 (g) 
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Reactants:______________   Products: ___________________  

 

Gases: _________________   Liquids:   _________________ 

Solids:  _________________   Aqueous: _________________ 

 

 

 



__NO (g)  +  __O2 (g)  →  __NO2 (g) 

 
 

__ 

 
 
 

 
 

__ 
 
 

__ 

 
 
 

 
 

__ 
 

Reactants:______________   Products: ___________________  

 

Gases: _________________   Liquids:   _________________ 

Solids:  _________________   Aqueous: _________________ 

 

 

 



__KClO3 (s)   →  __KCl (s)  +  __O2 (g) 
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Reactants:______________   Products: ___________________  

 

Gases: _________________   Liquids:   _________________ 

Solids:  _________________   Aqueous: _________________ 



__P4 (s)  +  __H2 (g)  →  __PH3 (s) 
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Reactants:______________   Products: ___________________  

 

Gases: _________________   Liquids:   _________________ 

Solids:  _________________   Aqueous: _________________ 

 

 

 



__CS2 (l)  +  __O2 (g) →  __CO2 (g)  +  __SO2 (g) 
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Reactants:______________   Products: ___________________  

 

Gases: _________________   Liquids:   _________________ 

Solids:  _________________   Aqueous: _________________ 



__Fe2O3 (s)  + __CO (g)  →  __Fe (s)  +  __CO2 (g) 
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Reactants:______________   Products: ___________________  

 

Gases: _________________   Liquids:   _________________ 

Solids:  _________________   Aqueous: _________________ 



__NH3 (g)  +  __NO (g) →  __N2 (g)  +  __H2O (g) 
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Reactants:______________   Products: ___________________  

 

Gases: _________________   Liquids:   _________________ 

Solids:  _________________   Aqueous: _________________ 



__CaCO3 (s)   + __H3PO4 (aq)  →  __Ca3(PO4)2 (aq)  +  __CO2 (g)  +  __H2O (l) 
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Fruity Hoops - ANSWERS 

3H2 (g)  +  N3 (g)  →  3NH3 (g) 

 

2NO (g)  +  O2 (g)  →  2NO2 (g) 

 

2KClO3 (s)  →  2KCl (s)  +  3O2 (g) 

 

P4 (s)   +  6H2 (g)  →  4PH3 (s) 

 

CS2 (l)  +  3O2 (g)  →  CO2 (g)  +  2SO2 (g) 

 

Fe2O3 (s)  +  3CO (g)  →  2Fe (s)  +  3CO2 (g) 

 

4NH3 (g)  +  6NO (g)  →  5N2 (g)  +  6H2O (g) 

 

3CaCO3 (s)    +  2H3PO4 (aq)   →    Ca3(PO4)2 (aq)  +    3CO2 (g)   +   3H2O (l) 


